Anmartbl (7273)495-231
AHrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
ActpaxaHb (8512)99-46-04
bapHayn (3852)73-04-60
Benropop (4722)40-23-64

bnaroBeLeHck (4162)22-76-07

BpsHck (4832)59-03-52
BnagmsocTok (423)249-28-31
Bnapgukaskas (8672)28-90-48
Bnagumup (4922)49-43-18
Bonrorpag (844)278-03-48
Bonorga (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHbypr (343)384-55-89
/BaHoBO (4932)77-34-06
WxeBck (3412)26-03-58
WpkyTck (395)279-98-46
KasaHb (843)206-01-48

Poccus +7(495)268-04-70

3anacHble yactu ans
KOHBeWnepHoro o6opyaoBaHus
[lepeyeHb

Mo Bonpocam npopax 1 noaaepxK1 odpallanTecs:

KanunuHrpan (4012)72-03-81
Kanyra (4842)92-23-67
Kemepogo (3842)65-04-62
Knpos (8332)68-02-04
KonomHa (4966)23-41-49
KocTtpoma (4942)77-07-48
KpacHogap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
KypraH (3522)50-90-47
Nunevk (4742)52-20-81
MarHuToropck (3519)55-03-13
Mocksa (495)268-04-70
MypmaHck (8152)59-64-93

HabepexHble YenHbl (8552)20-53-41
HwkHuin Hosropog (831)429-08-12

HoBoky3HeLk (3843)20-46-81
Hosbpbek (3496)41-32-12
HoBocubupck (383)227-86-73

Kupruans +996(312)-96-26-47

Owck (3812)21-46-40
Open (4862)44-53-42
OpeHBypr (3532)37-68-04
Mew3a (8412)22-31-16

lMeTposaBopck (8142)55-98-37

Mckos (8112)59-10-37
Mepmb (342)205-81-47

PocroB-Ha-[loHy (863)308-18-15

Ps3aHb (4912)46-61-64
Camapa (846)206-03-16
CapaHck (8342)22-96-24

CankT-lMeTepbypr (812)309-46-40

Capartos (845)249-38-78
Cesactononb (8692)22-31-93

Cumdeponons (3652)67-13-56

CmoneHck (4812)29-41-54
Coun (862)225-72-31
Craspononb (8652)20-65-13
CypryT (3462)77-98-35

KasaxctaH +7(7172)727-132

gnz@nt-rt.ru || https://gen.nt-rt.ru/

CoikTbiBKap (8212)25-95-17
Tawmbos (4752)50-40-97
Teepb (4822)63-31-35
TonbsaTTn (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87
TiomeHb (3452)66-21-18
YnbsHOBCK (8422)24-23-59
Ynau-Yas (3012)59-97-51
Ydpa (347)229-48-12
Xabaposck (4212)92-98-04
Yebokcapbl (8352)28-53-07
YensbuHck (351)202-03-61
Yepenosel (8202)49-02-64
Yuta (3022)38-34-83
AkyTck (4112)23-90-97
fpocnaens (4852)69-52-93


mailto:gnz@nt-rt.ru
https://gen.nt-rt.ru/

Elevator

941282887 Chain 3/4*2

941282987 Chain Pin/Lock 3/4*2

941290787 Bearing 1209 KC3 URB-ART For Elevator ELEVATOR 300*160-300*140

941290887 Bearing 1211 KC3 ORS For Elevator

941291087 Sleeved For Elevator ELEVATOR 300*160-300*140

941291187 Sleeve For Elevator H 211 KMS




941295987 Nut Galvanized M6

941296087 Self-adhesive Sponge Profile (Wick) 15*3mm EPDM

94132087 Screws Galvanized DIN 603 M6*16

94132187 Screws Galvanized DIN 603 M8*16

94132287 Nut Galvanized M8

94206287 Self-adhesive Sponge Profile (Wick) 20*2mm EPDM




94217087 Wedge AB Type 16*10*45

94228587 Self-adhesive Sponge Profile (Wick) 30*3mm

9430004287 Elevator Bucket 100 mm Model ELEVATOR 300*140

9430004387 Elevator Bucket 120 mm Model ELEVATOR 300*160

9430004787 Elevator Bucket 180 mm Model ELEVATOR 400*220

9430004987 Elevator Bucket 220 mm Model ELEVATOR 500*260



9430005187 Elevator Bucket 240 mm Model ELEVATOR 600*280

9430005487 Elevator Bucket 320 mm Model ELEVATOR 700*360

9430008287 Elevator Bucket 100 mm Model ELEVATOR 300*140

9430008387 Elevator Bucket 120 mm Model ELEVATOR 300*160

9430008687 Elevator Bucket 180 mm Model ELEVATOR 400*220

9430008887 Elevator Bucket 220 mm Model ELEVATOR 500*260




9430008987 Elevator Bucket 240 mm Model ELEVATOR 600*280

9430009387 Elevator Bucket 320 mm Model ELEVATOR 700*360

9430011087 Belt For Elevator 340*6 Model ELEVATOR 700*360

9430011587 Belt For Elevator 120*5 Model ELEVATOR 300*140

9430011887 Belt For Elevator 140*5 Model ELEVATOR 300*160

9430013087 Belt For Elevator 200*5 Model ELEVATOR 400%*220



9430013787 Belt For Elevator 240*6 Model ELEVATOR 500*260

9430014287 Belt For Elevator 260*6 Model ELEVATOR 600*280

9430014887 flat head bolt 3/8 M10

9430014987 flat head bolt 5/16 M8

9430015487 Steel flat head bolt 5/16 M8

9430015587 Steel flat head bolt 3/8 M10



943009887 Wedge AB Type 14*9*40

943500787 SNH 509 Bearing Housing Felted ELEVATOR 300%*160-300*140

943501187 Bearing Housing Felted SNH 511 ELEVATOR 500%260-400%220

944002987 Bull Tensioner For Elevator ELEVATOR 300*140

944009287 Pulley Shaft For Top Body ELEVATOR 300*140

944009487 Checking Glass For Top Casing ELEVATOR 300*140



944009787 Top Body Shaft Mat For Elevator ELEVATOR 300*140

944017387 Bull Tensioner For Elevator ELEVATOR 300*141

944017487 Pulley Shaft For Bottom Body ELEVATOR 300*160

944018887 Bottom Body Shaft Mat For Elevator ELEVATOR 300*160

944023787 Checking Glass For Top Casing ELEVATOR 300*160

944024087 Pulley Shaft For Top Body ELEVATOR 300*160



944032787 Pulley Shaft For Bottom Body ELEVATOR 400%*220

944032887 Bull Tensioner For Elevator ELEVATOR 400*220

944039787 Pulley Shaft For Top Body ELEVATOR 400*220

944047587 Pulley Shaft For Bottom Body ELEVATOR 500*260

944047687 Bull Tensioner For Elevator ELEVATOR 500*260

944054887 Checking Glass For Top Casing ELEVATOR 500*260




944054987 Pulley Shaft For Top Body ELEVATOR 500%260

944054987 Pulley Shaft For Top Body ELEVATOR 500%260

944062887 Pulley Shaft For Bottom Body ELEVATOR 600*280

944062987 Bull Tensioner For Elevator ELEVATOR 600*280

944069787 Pulley Shaft For Top Body ELEVATOR 600*280

944069887 Checking Glass For Top Casing ELEVATOR 600*280-700*360



944077287 Pulley Shaft For Bottom Body ELEVATOR 700*360

944077387 Bull Tensioner For Elevator ELEVATOR 700*360

944084287 Pulley Shaft For Top Body ELEVATOR 700*360

944087387 Chain Wheel 3-4 20 Q45 ELEVATOR 500%260-400%220

944601387 Mica Glass ELEVATOR 300*140-300*160-400*220

944607187 Mica Glass ELEVATOR 500*260-600*280-700*360



9469287 Bearing Housing UCF 208 SNR ELEVATOR 300*160-300*140

9469487 Bearing Housing UCF 210 SNR ELEVATOR 400*220-500*260

9469587 Bearing Housing UCF 212 SNR ELEVATOR 700*360-600*280

947509787 Checking Glass For Top Casing ELEVATOR 400%*220

9488687 Wedge A Type 12*8*100

9489287 Wedge A Type 18*11*100




9489487 Wedge A Type 16*10*100

9489787 Wedge AB Type 10*8*40

9492287 Wedge AB Type 14*9*50



Screw Conveyor

9410387 Conveyor Pipe @ 48*42 SCREW 200*1600

9410587 Conveyor Pipe @ 60*54 SCREW 250*1600

9411487 Conveyor Pipe @ 42*36 SCREW 160*1600

941211987 Lock Magrus

94123587 A Round Knob Q30 M8

941272887 Switch XCKN 2118 P20




9419787 Conveyor Pipe @ 76*68 SCREW 300*1600

94228587 Self-adhesive Sponge Profile (Wick) 30*3 mm

9430211487 Chain 5/8*2

943204187 Coil Spring Q200*2500mm Q48 Right-Hand Side SCREW 200*1600

943205887 Chain Wheel 5/8*20 Q45

943205987 Chain Wheel 5/8*20 Q35




943208587 Chain Wheel 5/8*20 Q40 SCREW 300*1600

943209087 Chain Wheel 5/8*20 Q50 SCREW 300*1600

943209487 Chain Wheel 5/8*20 Q55 SCREW 300*1600

943222487 Coil Spring Q250*2500mm Q60mm Right-Hand Side SCREW 250*1600

N

943247587 Coil Spring Q160*1500 mm Q42 Right-Hand Side SCREW 160*1600

943262387 Coil Spring Q300*1500 mm Right-Hand Side SCREW 300*1600



943270087 Screw Conveyor Hanging Bearing Q200 Q40

943270787 Screw Conveyor Hanging Bush Top Q40 Q40

943271087 Screw Conveyor Hanging Bearing Q250 Q50

943271687 Screw Conveyor Hanging Bush Top Q50 Q50

943272087 Screw Conveyor Hanging Bearing Q300 Q60 Lik

943272687 Screw Conveyor Hanging Bush Top Q60 Q60



943273487 Screw Conveyor Hanging Bearing Q400 Q60 Lik

943273787 Screw Conveyor Hanging Bush Bottom Q50 Q50

943273887 Screw Conveyor Hanging Bush Bottom Q60 Q60

943273987 Screw Conveyor Hanging Bush Bottom Q40 Q40

943274087 Screw Conveyor Hanging Bearing Q160 Q40

9469287 Bearing Housing UCF208 SNR SCREW 160*16000



9469487 Bearing Housing UCF210 SNR SCREW 200*1600

9469587 Bearing Housing UCF212 SNR SCREW 200*1600-300*1600

9488387 Wedge AB Type 10*8*53 SCREW 160*1600

9492287 Wedge AB Type 14*9*50




Blower Air Lock

9491172187 Gear 5/8*20 Chain Coupling

9491520487 Blower Air Lock Cover

9491520787 Blower Air Lock Pipe Outlet




Blower Pump

9490022987 Oil For Blower Pump

9491083387 Blower Filter For Blower Pump

9491235187 Pressure Gauge For Blower Pump

9491253587 Plastic Flange

9491375487 Plastic Stopper For Blower Air Tank

9491469387 Drain Valve




9491533187 Plastic Stopper For Blower Air Tank New Model




Rotary Diverter Valve

@ 941278387 Rod Clevis SG-M10*1,5 FES-6144 DIVERTER 50

. 94187687 Solenoid Coil MLH-230VAC FES-535890

ga - 945801087 Single Coil Solenoid Valve FES-575249

. 945802087 Solenoid Coil VACS-C-C1-124 Volt FES-8025330

945802187 Plug Socket MSSD-EB-M12 FES-539712

9477087 Rod Clevis SG-M16*1,5 FES-6146 DIVERTER 95-125-135-160




9479587 Rod Clevis SG-M12*1,5 FES-6145 DIVERTER 70

9491520987 Pneumatic Cylinder DSNU-32-125-P-A DIVERTER 50

~<
-

T
=

9491521087 Pneumatic Cylinder DSNU-40-160-P-A DIVERTER 70

4
N

o>
Vo

9491521187 Pneumatic Cylinder DSNU-50-200-P-A DIVERTER 95-125

]

pr>
=

9491521287 Pneumatic Cylinder DSNU-50-250-P-A DIVERTER 135

\i |

pr>
=

9491521387 Pneumatic Cylinder DSNU-50-320-P-A DIVERTER 160

\i |

e
P



Chain Conveyor

9491499287 Chain Conveyor 50-80 Ton Pallet

9491524387 Chain Conveyor 100 Ton Pallet

9491524487 Chain Conveyor 150 Ton Pallet

9491524587 Chain Conveyor 200 Ton Pallet

LR R R

9491524687 Chain Conveyor 50-80 Ton Sledge

\

9491524787 Chain Conveyor 100-150 Ton Sledge

\



9491524887 Chain Conveyor 200 Ton Sledge

9491524987 Chain Conveyor 50-80 Ton Roller Pulley

9491525087 Chain Conveyor 100 Ton Roller Pulley

9491525187 Chain Conveyor 150 Ton Roller Pulley

9491525287 Chain Conveyor 200 Ton Roller Pulley

9491525487 Chain Conveyor 100 Ton Chain




9491525787 Chain Conveyor 50-80 Ton Chain

>

9491525887 Chain Conveyor 200 Ton Chain

A

9491525987 Chain Conveyor 150 Ton Chain

>



Chain Conveyor

9491499287 Chain Conveyor 50-80 Ton Pallet

9491524387 Chain Conveyor 100 Ton Pallet

9491524487 Chain Conveyor 150 Ton Pallet

9491524587 Chain Conveyor 200 Ton Pallet

LR R R

9491524687 Chain Conveyor 50-80 Ton Sledge

\

9491524787 Chain Conveyor 100-150 Ton Sledge

\



9491524887 Chain Conveyor 200 Ton Sledge

9491524987 Chain Conveyor 50-80 Ton Roller Pulley

9491525087 Chain Conveyor 100 Ton Roller Pulley

9491525187 Chain Conveyor 150 Ton Roller Pulley

9491525287 Chain Conveyor 200 Ton Roller Pulley

9491525487 Chain Conveyor 100 Ton Chain




9491525787 Chain Conveyor 50-80 Ton Chain

>

9491525887 Chain Conveyor 200 Ton Chain

A

9491525987 Chain Conveyor 150 Ton Chain

>



Dust Filter

9430036887 Clamps For Filter Bags 115-135

9430225587 Filter Bags ©@125*2400

9430226187 Filter Diaphragm Silicon

9430226287 Aluminium Diaphgram (Small)

9430226687 Electronic Card For Dust Filter

9430226987 Filter Wire ©9125%2400



9430227087 Filter Diaphragm (In Sheet Metal with Rubber)

9450039387 Filter Brain For Dust Filter

8 9490012787 Filter Diagphram Spring Shim

. : 9490016287 Electronic Card For Dust Filter

o
“van

9491169087 Spring For Filter Diaphragm

9491223887 Air Venting Valves



9491235287 Filter Pressure Gauge

9491252687 Filter Diaphragm (In Sheet Metal with Rubber)

9491293787 Filter Diaphragm (Aluminium Square)

9491454087 Selenoid Valfi 24VDC 06BAR 3/8




Air Lock

94132887 Bearing 6207 Zz

9430209187 Shaft For Air Lock

943431387 Sight Rubber For Air Lock @160 mm

943431687 Sight Rubber For Air Lock 2140 mm

9440329387 Bearing 6007 2 RSR

9490018987 Air Lock Sight Glass




9490019487 Air Lock Glass @140 mm

AN 9490019587 Air Lock Glass 2160 mm

9491091787 Bearing 6206 2RSR For Air Lock

9491172187 Gear 5/8*20 Chain Coupling




Volumetric Measurer

9440329387 Bearing 6007 2RSR MEASURER 30

©

9472087 Bearing 6206 2RRS MEASURER 22-24

@



Pneumatic Cyclon

9430025187 Aluminium Cyclone Clacks @85

9430025287 Aluminium Cyclone Clacks @100

9430025387 Aluminium Cyclone Clacks 9120

9430025487 Aluminium Cyclone Clacks @180

9430025587 Aluminium Cyclone Clacks @145




Mo Bonpocam npopax 1 noaaepxk1 odpallanTecs:

Anmartbl (7273)495-231 KanunuHrpan (4012)72-03-81 Owmck (3812)21-46-40 CoikTbiBKap (8212)25-95-17
Anrapck (3955)60-70-56 Kanyra (4842)92-23-67 Open (4862)44-53-42 TamboB (4752)50-40-97
ApxaHrenbck (8182)63-90-72  Kemepogo (3842)65-04-62 OpeHbypr (3532)37-68-04 Teepb (4822)63-31-35
AcTpaxaHb (8512)99-46-04 Knpos (8332)68-02-04 MMeHsa (8412)22-31-16 TonbsaTTn (8482)63-91-07
bapHayn (3852)73-04-60 KonomHa (4966)23-41-49 lMeTposasopck (8142)55-98-37 Tomck (3822)98-41-53
Benropop (4722)40-23-64 KocTtpoma (4942)77-07-48 IckoB (8112)59-10-37 Tyna (4872)33-79-87
BbnaroeeweHck (4162)22-76-07  KpacHogap (861)203-40-90 Mepmb (342)205-81-47 TiomeHb (3452)66-21-18
BpsHck (4832)59-03-52 KpacHosipck (391)204-63-61 PoctoB-Ha-[loHy (863)308-18-15  YnbsiHoBCK (8422)24-23-59
BnaguBoctok (423)249-28-31  Kypck (4712)77-13-04 Ps3aHb (4912)46-61-64 YnaH-Ypg3 (3012)59-97-51
Bnapgukaskas (8672)28-90-48  KypraH (3522)50-90-47 Camapa (846)206-03-16 Ydha (347)229-48-12
Bnagumup (4922)49-43-18 Nunevk (4742)52-20-81 CapaHck (8342)22-96-24 Xabaposck (4212)92-98-04
Bonrorpap (844)278-03-48 MarHuToropck (3519)55-03-13 CankT-lMeTepbypr (812)309-46-40  Yebokcapbi (8352)28-53-07
Bornorga (8172)26-41-59 Mocksa (495)268-04-70 CapartoB (845)249-38-78 YensbuHck (351)202-03-61
Boponex (473)204-51-73 MypmaHck (8152)59-64-93 Cesactononb (8692)22-31-93 Yepenosel (8202)49-02-64
EkatepuHbypr (343)384-55-89  HabepexHble YenHbi (8552)20-53-41  Cumdbeponons (3652)67-13-56 Yura (3022)38-34-83
VBaHOBO (4932)77-34-06 HwkHuin Hosropog (831)429-08-12 CmoneHck (4812)29-41-54 AkyTck (4112)23-90-97
WxeBck (3412)26-03-58 HoBoky3HeLk (3843)20-46-81 Coun (862)225-72-31 fpocnaens (4852)69-52-93
WpkyTck (395)279-98-46 Hosibpbck (3496)41-32-12 Craspononb (8652)20-65-13

KasaHb (843)206-01-48 Hosocubupck (383)227-86-73 CypryT (3462)77-98-35

Poccus +7(495)268-04-70 Kupruans +996(312)-96-26-47 KasaxctaH +7(7172)727-132

gnz@nt-rt.ru || https://gen.nt-rt.ru/


mailto:gnz@nt-rt.ru
https://gen.nt-rt.ru/

